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The Size and Role of Government: Economic Issues

Summary

The size and role of the government is one of the most fundamental and
enduring debates in American politics. Economics can be used to anayze the
relative merits of government intervention in the economy in specific areas, but it
cannot answer the question of whether thereis*too much” or “too little” government
activity overall. That is not to say that one cannot find many examples of
government programs that economists would consider to be a highly inefficient, if
not counterproductive, way to achieve policy goals. Reducinginefficient government
spending would benefit the economy; however, reducing efficient government
spending would harm it, and reducing the size of government could involve either
one. Government intervention can increase economic efficiency when market
failures or externalities exist. Political choices may lead to second-best economic
outcomes, however, and some argue that, for that reason, market failures can be
preferable to government intervention. In the absence of market failures and
externalities, thereislittleeconomicjustification for government intervention, which
lowers efficiency and probably economic growth. But government intervention is
often based on the desire to achieve socia goals, such as income redistribution.
Economics cannot quantitatively value social goals, although it can often offer
suggestions for how to achieve those goals in the least costly way.

The government intervenes in the economy in four ways. First, it produces
goods and services, such as infrastructure, education, and national defense.
Measuring the effects of these goods and services is difficult because they are not
bought and sold in markets. Second, it transfers income, both vertically across
income levels and horizontally among groups with similar incomes and different
characteristics. Third, it taxes to pay for its outlays, which can lower economic
efficiency by distorting behavior. Not al taxes are equally distortionary, however,
so there are ways of reducing the costs of taxation without changing the size of
government. Furthermore, deficit spending doesnot allow the government to escape
the burden of taxation since deficitsimpose their own burden. Finally, government
regul ation alters economic activity. The economic effects of regulation are the most
difficult to measure, in terms of both costs and benefits, yet they cannot be neglected
because they can be interchangeable with taxes or government spending.

There are many different ways to measure the size of the government, making
its economic effects difficult to evaluate. Budgeting conventions are partly
responsible: tax expenditures, offsetting receipts and collections, and government
corporations are all excluded from the budget. But some governmental functions,
like regulation, simply cannot be quantified robustly. Discussions about the overall
size of government mask significant changes in the composition of government
spending over time. Spending has shifted from the federa to the state and local
level. Federal production of goods and services has fallen, while federal transfers
have grown significantly. Today, nearly two-thirds of federal spendingisdevotedto
Socia Security, Medicare, Medicaid, interest payments, and national defense. Thus,
thereislimited scopeto alter the size of government without fundamentally altering
these programs. The share of federal spending devoted to the elderly has burgeoned
over time, and thistrend is forecast to continue.
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The Size and Role of Government:
Economic Issues

The appropriate sizeand role of the government is one of the most fundamental
and enduring debates in American politics. What role does the state play in
economic activity? How is the economy affected by government intervention?
Many of the arguments surrounding the proper size of government are economic in
nature, and they will be discussed in this report.

How Does the Government Affect the Economy?
Government activity affects the economy in four ways:

e The government produces goods and services, including roads and
national defense. Lessthan half of federal spendingisdevotedtothe
production of goods and services.

e The government transfers income through both the tax system and
outlays. Popular perception typicaly focuses on transfers across
income classes through the progressive income tax system and
means-tested benefits, referred to as vertica redistribution. But
vertical redistribution is dwarfed by horizontal redistribution,
transfers unrelated to income class. The largest beneficiaries of
transfers are the elderly, through programs such as Social Security.

e The government collects taxes, and that alters economic behavior.
For instance, taxes on labor change the incentives to work, while
taxes on specific goods (e.g., gasoline) change the incentive to
consume and produce those goods.

e The government regulates economic activity for a number of
reasons, including environmental protection, workplace safety, and
consumer protection. The economic impact of regulation is
probably the hardest and most contentious to measure of the four
types of government economic activity.

! The term regulation is used in this report in the popular sense to encompass laws,
mandates, and government regulations that affect commerce.
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How Large Is the Government?

Before assessing how the government affects economic activity, it is necessary
to agree upon how to measure the size of the government. For anumber of reasons,
this exercise is less straightforward than it may seem.

e The size of government can be expressed in a number of
different unitsof measurement. Should the size of gover nment
bemeasuredindollars,on aper capitabasis, by total employees,
or as a percentage of GDP?

Each measurement has its advantages, but some measurements have more
shortcomings than others. If measured in dollars, then those dollars should be
adjusted for inflation. The purpose of measurement is to gauge the resources at the
government’s disposal, and a dollar of tax revenue in 1946 would buy $10.63 of
goods and servicesin 2007 because of inflation.? Measuring the size of government
by the number of employees is imprecise because the government can substitute
capital for labor over time to accomplish the same tasks with fewer employees. For
example, the government’ s purchase of computers has rendered many clerical jobs
obsolete. The federal government can also pay workers in the private labor force
through contracts and grants or alow state and local government workersto deliver
federal programsin place of federal public servants. One estimate puts the number
of private and state and loca government workers working for the federal
government at more than seven times the size of the federal workforce.?
Comparisons over time that do not incorporate demographic change are arguably
misleading because government spending per capitais more meaningful than total
government spending: $458.4 billioninfederal spendingin 1946 amounted to $3,242
per person then, but would only finance $1,533 per person in 2006.

But over long periods of time, because of the power of compounding, any level
of government spending will appear to be insignificant unlessit is expressed as a
fraction of grossdomestic product (GDP) (ameasurement that incorporatesinflation
and population growth). 1n 1944, at the height of World War 11, federal spendingwas
lessthan half of today’ s federal budget in constant (inflation-adjusted) dollars. Yet
outlaysin 1944 accounted for 43.7% of GDP, whereasthe budget in 2007 accounted
for only 20% of GDP.* Nevertheless, some argue that stating the size of government
as a percentage of GDP understates increases in government spending in the short
term, particularly in years when growth is high. For example, those who claim that
government spending increased sharply in 2000 point to the fact that it increased by
2.5% in constant dollars. Thosewho claim theincrease was modest point to the fact
that it fell by 0.2 percentage points of GDP. Since this report focuses on long-term
trends, all measurements are made as a percentage of GDP.

2 Federal Reserve Bank of Minneapolis, “What is a Dollar Worth?”,
[http://www.minneapolisfed.org/research/data/us/cal c/].

3 Paul Light, The True Sze of the Government (Washington: Brookings Institution Press,
1999).

* All budget data are measured on afiscal year basis unless otherwise noted.
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e The size of the government can be measured by expenditures
(outlays) or revenues (receipts).®

At times when the budget deficit is large, the difference between the two
measures is significant, as seen in Figure 1. Measured by receipts, the size of
government in the post-war period peaked in 2000. Measured by outlays, the size of
government peaked in 1983. In 2000, the peak year as measured by receipts, outlays
were at their lowest level since 1966. Government has grown since 2000 when
measured by outlays, and shrunk measured by receipts.

Figure 1. Federal Outlays and Receipts, 1950-2007
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Source: OMB, Budget of the U.S. Government, Historical Tables, Table 1.2
Note: Datameasured on afiscal year basis.

There are two main reasons why outlays might be considered a better measure
of the size of government than receipts. First, receiptsare more volatile than outlays
and are only indirectly controlled by legislators. They are particularly sensitive to
economic conditions. Receipts did not peak in 2000 because of changes in the tax
code, but because of the interaction between the tax code and the extremely rapid
growth in (taxable) income.

Second, outlays and revenues can temporarily diverge because of budget
deficits. But eventually, the budget must be brought back into balance. Therefore,
cutting taxes without corresponding spending cuts does not permanently reduce the
size of government, and measuring the size of government by revenues gives the
misleading impression that government issmaller than it is. Furthermore, although
people often refer to the burden of high taxes, that burden cannot be avoided in the
long run through deficits because deficitsimpose aburden that isevery bit asreal as
taxes.® In other words, agiven level of spending requiresthe resources of individual

® The datareported in budget documents are net recei pts and net outlays, and do not include
offsetting receipts and collections, which are described below. Thisreport will follow the
standard convention of defining recei ptsand outlays as net measurements, unless otherwise
noted.

¢ See also CRS Report RL30520, The National Debt: Who Bears Its Burden?, by Marc
Labonte and Gail Makinen; and CRS Report RL31775, Do Budget Deficits Raise Interest
Rates and Is This The Relevant Question?, by Marc Labonte.
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taxpayers, whether deficit financed or tax financed; all that changes is the timing of
itsincidence.

Whileitis sometimesargued that deficitshold down the growth in spending for
political reasons, deficits directly increase the outlays needed to maintain a fixed
level of government services in the future by increasing interest payments on the
national debt. In other words, if spending is constant over time, a $1 tax cut today
will lead to atax increase of $1 plus compounded interest in the future. Thisraises
afurther question: if interest paymentsare the direct result of deferring paymentsfor
past spending to the present, should they be included in comparisons of the size of
government over time? Including net interest payments, as current practice does,
makes the government appear to belarger following periods of large deficitsrelative
to the period beforethe deficits. Excluding them givesadifferent budget picture: for
example, high interest payments in the 1990s and 2000s obscure the fact that other
outlays at the time were as small as they had been in the 1960s.

Since this report focuses on long-term trends, it measures the size of
government by spending. When measured by outlays, the size of government
followed an upward trend until 1983, and hasfollowed adownward trend ever since.
Outlaysrosefrom 14.7% of GDPin 1947 to 23.5%in 1983. They thenfell to 18.4%
of GDP in 2000, and have increased since. Outlays were below 20% of GDP from
1947-1974 (with the exception of 1953 and 1968), above 20% of GDP from 1975-
1996, and were below 20% of GDP from 1997 to 2002, but reached 20% of GDP
again in 2003 and 2005-2007.

e Alook at total spending masksthelarge compositional changes
in spending over the post-war period.

In anutshell, the government’ slargest activity has gone from national defense
in the 1960s to transfers to the elderly today. Defense spending peaked at 9.5% of
GDPin 1968. It then fell to 4.7% of GDP in 1978, rose to 6.2% of GDP in 1986
before beginning a sharp decline, and stood at 4.0% of GDP in 2007. At the same
time, mandatory spending (excluding net interest) has risen from 4.9% of GDP in
1962 to 10.6% in 2007. Mandatory spending programs for which the elderly are
major beneficiaries make up nearly three-quarters of all mandatory spending.” Non-
defense discretionary spending, which includes spending on transportation,
education, the environment, and numerous other government activities, grew from
3.4% of GDPin 1962 to 5.2% in 1980. It has been below 4% of GDP since 1984,
and stood at 3.6% of GDP in 2007. Net interest on the publicly held national debt
grew significantly in the 1980s and 1990s because of the government’s budget
deficits. Inthe post-war period to the 1980s, it had always been below 2% of GDP,
in the 1980s and early 1990s, it exceeded 3% of GDP.

"Mandatory spending programsfor which the elderly are maj or beneficiariesinclude Social
Security, Medicare, Supplemental Security Income, veterans benefits, and federal (civilian
and military) pensions. This calculation does not include Medicaid, which finances long-
term care.
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Figure 2. Federal Spending by Function, 1962-2007
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Source: OMB, Budget of the U.S. Government, Historical Tables, Table 8.4.
Note: Datameasured on afiscal year basis. This data series not available before 1962.

It is useful to remember that federal spending is overwhelmingly devoted to a
handful of activities. Defense spending, Socia Security, Medicare, Medicaid, and
interest payments on the national debt accounted for nearly two-thirds of all federal
outlaystoday. Thus, any proposal to reducethe government’ ssizewould be unlikely
to make much of a dent in overall spending unlessit reduced one or more of these
programs.

e Government transfer sand gover nment pur chases of goods and
services have different and distinct effects on the economy.

Economists draw adistinction between government outl ays spent on goods and
services (purchased from the private sector or produced directly by the government)
and outlays that transfer resources from one set of private individuals (taxpayers) to
another. Since a significant portion of government spending is devoted to
government transfersto individuals, much of the revenue collected through taxation
isultimately spent by the private sector on private sector goods and services (after it
istransferred by the government). Government transfers do not employ U.S. capital
and labor (except to administer those transfers) in the same way as government
production of goodsand services. Government transfersbasically shift private sector
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spending from one group of privateindividualsto another.® By shiftingincomefrom
its market allocation, government transfers still have an effect on the economy,
however, because thetransfers and taxesto finance them alter theincentivesto work
and save.

The merits of government transfers cannot typically be evaluated on the basis
of economic efficiency alone, since they often implement social goals. By contrast,
government production of goodsand servicesfallscomfortably withintheframework
of economic efficiency based on whether or not the spending addresses a market
failure, as explained in the next section.

Figure 3. Government Purchases and Transfers, 1950-2007
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Source: OMB, Budget of the U.S. Government, Historical Tables, Table 14.2.

Note: Data measured on a fiscal year basis. Grants to state and local government not included.
Interest is defined as net interest paid on the national debt. Subsidies are measured as net outlaysto
government corporations.

Transfers can result in vertical redistribution, transfers among income classes,
or horizontal redistribution, transfers unrelated to income class. Most transfers on
the spending side of the budget result in horizontal redistribution. For example, the
largest portion of government transfers are directed to the elderly, notably through
Social Security. (Socia Security containsan element of vertical redistributioninthat
the tax-benefit formulais more favorable as income declines, but its main function
ishorizontal redistribution.) Another large category of transfersisdevotedtointerest
on the national debt, which represents a transfer from taxpayers to bondholders.
Transfersal soinclude net subsidiesto government corporations, which arediscussed
below. Thelargest portion of government productionisdirected to national defense.’

8 Most transfers are from U.S. taxpayers to other Americans. Some transfers go to
foreigners, however. In 2005, the U.S. government paid $134 billion to foreigners in
interest payments on the national debt and $33 billion in other transfers (e.g., foreign aid.)
Transfers to foreigners made up 11% of total transfers. See BEA, National Income and
Product Accounts, Table 3.2.

° Dataon federal production of goods and services and transfers does not include grants to
(continued...)



CRS-7

The distinction between government transfers and government production of
goods and services becomes important when making historical comparisons. Total
federal outlayshaveremained in the range of 20% with aslow upward trend for most
of the post-war period, but this masks large changes in the composition of federal
outlays. Since the 1950s, outlays for federal production and transfers have moved
in the opposite direction. While government production was nearly three times as
large as government transfersin the early 1950s, production is only half as large as
transfers today.

e Measuring the size of gover nment by receiptsor outlays omits
tax expenditures.

Tax expendituresare defined in the Congressional Budget Act of 1974 (P.L. 93-
344) as* revenuel osses attributableto provisionsof the Federal tax lawswhich allow
aspecial exclusion, exemption, or deduction from grossincome or which provide a
specia credit, a preferential rate of tax, or adeferral of liability.” They take many
forms and cover many policy areas, a Senate Budget Committee compendium
identifies 160 corporate or income tax expendituresin current law.”® Revenue loss
attributable to these tax expenditures totaled $943 hillion, or 7.2% of GDP, in
FY2006." Thisisalmost aslarge astotal discretionary spending (defense and non-
defense) in FY 2006, yet tax expenditures do not show up directly on the outlay or
revenue side of the budget.”® Table 1 lists the largest tax expenditures. As a
comparison, the tax expenditure for the deduction of mortgage interest is more than
one and a half times aslarge as the entire FY 2006 appropriation for the Department
of Housing and Urban Development (HUD).

% (...continued)

state and local governments. A non-comparable data series on grants to state and local
governments from OMB suggeststhat grantsfor transfers are about twice aslarge as grants
for production in recent years.

10 y.S. Congress, Senate Committee of the Budget, Tax Expenditures: Compendium of
Background Material on Individual Provisions, committee print 109-72, 109" Cong., 2™
sess. (Washington: GPO, 2006).

1 According to the compendium, this is the sum of the estimated revenue gains from
repealing each tax expenditure individually. It is not the estimated revenue gain from
repealing all tax expenditures simultaneously since that would lead to interactions among
the repeal of different expenditures.

12 Generally, the refundable portion of atax expenditure is counted as an outlay, but very
few expenditures are refundable so only a small proportion of total tax expenditures is
counted asoutlays. Refundable creditsaretax creditswhich are paid when thetaxpayer has
no tax liability.
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Table 1. Estimated Revenue Loss from Income Tax
Expenditures Exceeding $10 Billion in FY2009
(projection, in billions of dollars)

FY2009-FY 2013

L) (cumulative)
Exclusion of employer medical insurance premiums
and medical care $168.4 $1052.0
Deductibility of mortgage interest on owner-occupied 1008 576.7
housing ' '
Capital gains (except agriculture, timber, iron, ore, and 55.9 257 2
coal) . .
Net exclusion of pension contributions and earnings:
(401K plans) 51.0 325.0
Deductibility of charitable contributions, other than
education and health 47.0 2740
Net exclusion of pension contributions and earnings:
(Employer plans) 45.7 216.3
Accelerated depreciation of machinery and equipment 441 270.0
Step-up basis of capital gains at death 36.7 197.8
Capital gains exclusion on home sales 34.7 191.8
Deductibility of non-business state and local taxes other 332 256.5
than on owner-occupied homes ' '
Child credit 30.0 109.8
Exclusion of interest on public purpose state and local 259 1375
bonds ' '
Exclusion of interest on life insurance savings 235 140.6
Social Security benefits for retired workers 18.6 106.0
Deductibility of state and local property tax on owner- 16.6 1317
occupied homes ‘ '
Deduction of U.S. production activities 15.3 119.3
Deferral of income from controlled foreign
corporations 138 76.3
Keogh plans 13.0 82.0
Accelerated depreciation on rental housing 11.8 72.8
Individual Retirement Accounts 117 67.4

Sour ce: OMB, Budget of the U.S. Government, Analytical Perspectives, Table 19.3.

Note: Data measured on afiscal year basis.
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Economistswould arguethat, in many ways, tax expenditures are equivalent to
government spending, and which is preferable depends on which isamore effective
or efficient way of achieving any particular goal. For example, a $1,000 child tax
credit is equivalent to the government sending a check for $1,000 to parents who
have eligible children and meet the credit’ s income requirements. Similarly, atax
deduction for mortgage interest for a taxpayer in the 33% marginal income tax
bracket is equivalent to the government sending the taxpayer acheck for 33 centsfor
every dollar of mortgageinterest paid. From arevenue perspective, the equivalence
comes from the fact that marginal rates must be raised to the same extent to finance
an expenditure whether it isatax expenditure or an outlay. Because tax provisions
are permanent (unless they include an expiration date), however, revenue loss from
specific expenditures may rise over time automatically without congressional action,
unlike appropriated spending. If this equivalence argument is correct, measures of
the size of government that omit tax expenditures drastically underestimate its size.

e Measuring the size of government by receipts or outlays omits
offsetting receipts and collections.

The outlay and revenue totals discussed here and in the federal budget are net
measures, and do not include offsetting receipts and collections. These are the
income that the government receives, primarily from business-like activities (many
are user fees). Mostly, the offsetting receipts and collections go directly toward the
provision of those activities for which they were collected, in some cases without
appropriation. Theseincludereceiptscollected directly by the government for health
care premiumsthrough Medicare Part B, national park user fees, and proceeds from
the sale of government resources. They aso include receipts collected by
government corporations (defined below) such as the Postal Service, the Export-
Import Bank, and the Federal Deposit Insurance Corporation. The receipts and
collectionsare not included in revenues, and the outlaysthat they fund are subtracted
from total outlays.

OMB justifies the exclusion of offsetting receipts and collections from the
budget on the grounds that “[t]he budget focuses on ... outlays and receipts that
measuregovernmental activity rather than acombinati on of governmental and market
activity.”*® What should berealized isthat evenif offsetting collections and receipts
arenot included in the budget asrevenues because they represent choicesmadeinthe
marketplace (i.e., they are not compul sory like taxes), removing them from revenues
also causes the activities that they finance to be removed from the outlay side of the
budget. Some budget analysts argue that this keeps many of the financed activities
outside the oversight and deliberation of the annual appropriation process.

Regardlessof whether offsetting recei ptsand collectionsfinance* public goods”
or (government-provided) “private goods,” when thinking about the size of the
government in relation to private economic activity, it may be sensible to include
them, and they are not an insignificant sum. In 2007, offsetting collections and
receipts totaled $320.7 billion, about 11.7% as large as outlays included in the
budget. Table 2 lists offsetting recei pts and collectionsthat exceeded $10 billionin

13 OMB, Analytical Perspectives, Budget of the U.S. Government, FY 2004, Ch. 21.
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2006. To the extent that offsetting collections and receipts have grown over time,
removing them from the budget arguably underestimates the growth in the size of
government.*

Table 2. Offsetting Receipts and Collections by Type, FY2006
(in billions of dollars)

Postal Service 73.9
Medicare premiums 50.3
Interest income 16.0
Military assistance program sales 15.8
Sale of energy 12.8
Other 151.9

Source: OMB, Budget of the U.S. Government, Analytical Perspectives, Table
18.4.
Note: Datameasured on afiscal year basis.

e When considering gover nment’sinfluence on theeconomy, it is
best toinclude gover nment spending at the stateand local level.

When state and local government spending isincluded, the decline in the size
of thegovernment since 1983 is smaller because of the correspondingincreasein the
size of state and local government. State and local government outlays grew from
7.1% of GDPin 1950 to 9.8% in 1983.*> But unlike the federal government, state
and local outlays have grown since 1983, reaching 11.6% of GDP in 2007. The
growth in state and local government is larger (and the growth in the federal
government issmaller) if oneincludesfederal grantsto state and local governments,
which have grown from 0.7% of GDP in 1950 to 2.7% of GDPin 2007. In contrast
to the federal government, at the state and local level government purchases
significantly exceeds government transfers.

4 For example, the General Accounting Office estimates that the user fees it studied
increased by 27% inreal termsfrom 1991-1996. See GAO, Federal User Fees: Budgetary
Treatment, Satus, and Emerging Management Issues, AIMD-98-11, December 1997.

> These figures refer to own-source state outlays, and do not include state outlays financed
by grants from the federal government. Those grants are included in federal outlays.
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Figure 4. Federal and State and Local Outlays, 1950-2007
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Source: OMB, Budget of the U.S. Government, Historical Tables, Table 15.3.
Note: Datameasured on afiscal year basis. State and local outlaysinclude own-source outlaysonly.
State and local outlays from federal grants are included in federal outlays.

e Should government corporations be included in discussions
involving the size of government? Should government-
sponsor ed enterprises beincluded?

Government corporationsare government agenciesthat providemarket services
and raise revenue that partly or fully cover their expenses. The Postal Service,
AMTRAK, and the Federal Deposit Insurance Corporation are prominent exampl es.
For themost part, their revenuesand expenses occur outside of the budget. Surpluses
arereturned to the Treasury and the corporation may receive appropriated subsidies
or loans from general revenues. The activities of these agencies are recorded in the
federal budget only in-so-far as they receive subsidies or federal loans, or generate
surpluses. They do not have shareholders, and raise capital through the Treasury’s
Federal Financing Bank. Some raise capital independently of the government; for
example, the Tennessee Valley Authority issues its own bonds.

In economic terms (business decisions, budgets, products, and so on), these
corporationsmay moreclosely resembl e private businesses, and havelittleinput from
the executive branch or legislaturein day-to-day decision making. Nevertheless, the
organizations are part of the government, and not privately owned. In that way, the
major difference between them and the rest of the government is that they provide
goods and services that are sold in the market, whereas typically the government
providesnon-market goods (e.g., education, defense, and highways). Sometimesthe
government corporations compete with private corporations (e.g., package delivery
by the Postal Service), and sometimes they have amonopoly (e.g., letter delivery by
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the Postal Service).®® Government corporations account for about 1% of national
income, afraction that has stayed relatively constant over time."’

In addition, there are “quasi-government” organizations with more distant ties
to the government than government corporations, but distinct from the private sector.
These include RAND, the Smithsonian Institution, and government sponsored
enterprises (GSES), such as Fannie Mae and Freddie Mac.”® What they have in
common are legal characteristicsthat in someway link them to the government. For
example, the GSEs were federally chartered by the government and have special
borrowing privileges from the U.S. government. However, they are shareholder-
owned corporationswith management structuresindependent of the government and
do not receive government appropriations (although their tiesto government increase
the firms' market value.)®®

e Thefocuson an annual cash flow budget neglectsthe fact that
policy decisions made today can have long-run consequences
that arenot reflected in today’s budget.

This can occur in a number of ways. Many recent tax cuts and spending
programs are being phased in over anumber of years. For example, under P.L.107-
16, signed into law in 2001, the estate tax will not be eliminated until 2010.
Spending on multi-year projects can lead to implicit future spending commitments
even if explicit commitments are not made. For example, once amilitary hardware
investment project begins, it may be highly impractical to stop funding the project
beforeit has been completed. Nevertheless, defense spending, like all discretionary
spending isassumed to grow at the rate of inflation in the budget baseline, and future
budget totals are not adjusted for multi-year spending projects.

Mandatory spending can increase with no change in law when the number of
eligible beneficiaries increases. The example of this phenomenon that dwarfs all
others under current policy is entitlement spending on the aged. Under current
policy, the retirement of the baby boomers and the increase in life expectancy are
projected to cause spending on Social Security, Medicare, and Medicaid to increase
from 7.4% of GDPin 2000 to 18.8% of GDPin 2080.% Whilethe spendingincrease
will not occur until the future, the promises to increase spending are being made
today. These promises are not reflected in the FY 2008 budget, and unlike a private
pension plan, the payroll taxes being collected from baby boomers while they work

16 For more information on government corporations, see CRS Report RL30365, Federal
Government Corporations: An Overview, by Kevin Kosar.

" BEA, National Income and Product Accounts, Table 1.13.

18 Some analysts argue that the primary motivation for the creation of certain GSEs was to
remove their costs from the federal budget. For example, see Roy Meyers, Srrategic
Budgeting (Ann Arbor: University of Michigan Press, 1996), pp. 72-79.

® For more information on the quasi-government, see CRS Report RL30533, The Quasi
Government: Hybrid Organizations with Both Government and Private Sector Legal
Characteristics, by Kevin Kosar.

2 OMB, Budget of the U.S. Government, Analytical Perspectives, FY 2009, Table 13.2.
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are not set aside to fund the future obligations they have secured under current law.
In al, one recent study estimated that the government’s total future unfunded
liabilitiesequaled $44.2 trillion in present valueterms.?* Some budget analystshave
argued that the budget should be measured using adifferent accounting method (e.g.,
accrual accounting) so that liabilitiesincurred today are recorded in today’ s budget.
Different accounting methods might tell asignificantly different story about changes
in the size of government over time.?? The shortcoming of cash flow budgeting as
ameasure of size of government isbest expressed in the question: doesthe morethan
doubling of elderly entitlement spending as a percentage of GDP projected under
current policy really imply any growth in the size of government when the benefits
each individual receives remain the same?

e Spending and tax revenue are not the only waysto think about
the size of the gover nment.

The government can arguably have a bigger (smaller) role in the economy
without spending more (less). Government regulation (in the form of laws,
regulations, or mandates) undoubtedly has an economic impact every bit asreal as
spending or taxation, but the cost of regulation is difficult to quantify and is not
measured overall by any official source.”® And yet to ignoreit in discussions of the
size of government could be misleading. For example, consider a government
proposal to reduce the consumption of a product (gasoline, cigarettes, alcohol, and
so on). The government could reduce consumption by paying people not to use the
product or paying them to use an alternative, which would be counted as an increase
in government outlays. The government could tax the product to reduce its use by
making it more costly, which would be counted as an increase in government
revenues. Or it could pass regulations forbidding or restricting its use, which would
not show up on either side of the budget’s ledger. Yet all three proposals could be
crafted to have the exact same effect on the quantity of the good consumed.

Effect of the Government on Economic Efficiency

How can policymakers determine the appropriate role of the government in the
economy? Most economists judge the economic merit of any government program
based on its effect on economic efficiency. Doeslarger government raise economic
efficiency or lower efficiency? The only overarching answer that can be offered is:
it depends. Economic theory is clear that government intervention has the potential

2 Jagdeesh Gokhal eand K ent Smetters, Fiscal and Generational |mbalances (Washington:
American Enterprise Institute Press, 2003).

22 SeeMario Blgjer and Adrienne Cheasty, “ The M easurement of Fiscal Deficits: Analytical
and Methodol ogical Issues,” Journal of Economic Literature, vol. XX1X, December 1991,
p. 1644.

% The most comprehensive official estimate of the costs and benefits of regulation is
probably found in Office of Management and Budget, Draft 2005 Report to Congressonthe
Costs and Benefits of Federal Regulations, March 2005. It finds that the 10-year cost of
regulations reviewed by OMB was $34.8 billion to $39.4 billion.
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to improve efficiency when market failures exist, but is likely to reduce efficiency
when markets are already “perfect,” which isdefined below. Inreality, government
intervenes both in cases of market failure and in cases where markets are already
operating relatively efficiently.

Asaresult, somegovernment policiesrai seeconomic efficiency and somelower
efficiency. By no means are all spending decisions made by the government today
justified on efficiency grounds. If it were possibleto isolate and eliminateall actions
which lowered efficiency, economic welfare could hypothetically be improved by
reducing the size of government. Likewise, one could identify areas where
government intervention could improve currently uncorrected market failuresand a
larger government would theoretically improve economic efficiency.

Before discussing what constitutes a market failure, it is useful to define
economic efficiency, which differsfrom popular parlance. Asopposedtoitspopular
usage, economic efficiency does not involve economic growth, wealth, or
productivity. Infact, one can think of examples where efficiency is at loggerheads
withthesegoals. Generally, an outcomeiseconomically efficientif themarginal cost
of producing one more unit of a good is equivalent to the marginal benefit of
consuming one more unit of the good. When markets function perfectly, which is
defined as a market with many buyers and sellers, no barriers to entry, perfect
information, and the costs and benefits of the transaction are compl etely borne by the
buyer and seller, an economically efficient outcome will occur and government
intervention can only reduceefficiency. When therearemarket failures, government
intervention has the potential to improve efficiency by moving away from the
economically inefficient outcome produced by the market.

While economic efficiency is easy to define theoretically, discord arises when
applied to actual government policies. Typicaly, an efficiency-enhancing measure
cannot be produced without being accompanied by efficiency-reducing side effects.
For example, without our criminal justice system markets could not operate, but a
criminal justice system cannot be operated without taxes that are likely to take a
efficiency-reducing form. While there is a broad consensus that a tax-financed
criminal justice system is efficiency-improving on net at some level, thereislikely
to be disagreement as to whether the benefit derived from a marginal increase in
resources devoted to criminal justice from current levels would exceed the costs of
amarginal increase in taxation to finance it.

Furthermore, the democratic processis conducive to compromisesthat include
a mixture of efficiency-enhancing and efficiency-reducing measures. Judging the
bal ance between the two is unlikely to produce wide consensus. Economic theory
can describethe economic benefits (and costs) of abroad policy approach, but cannot
predict how the compromise that emerges from the legislative process will differ
fromthepolicy asoriginally conceived. Measuring efficiency gainsand lossesof any
proposal ismoredifficult when other policiesare also distorting amarket. (Personal
differences in opinion on these matters go along way toward explaining the wide
ideological diversity within the economics profession.)
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What Is a Market Failure?

To understand when government intervention in the economy can increase
economic efficiency, it is necessary to define amarket failure. Beforedoing so, itis
useful to give examples of what is not a market failure: inequality, poverty, fraud,
discrimination, bankruptcy, layoffs, high prices, and so on are not market failures, as
defined by economic theory. While they are undesirable phenomena which may be
valid targets of public policy, they are problems that either are not economic in
nature, or do not meet the definition of economic inefficiency: they do not involve
a mismatch between marginal cost and marginal benefit. In economic theory the
following are major types of market failures:

Public Goods. There are some beneficial goodsthat will not be provided by
the market because they are “non-excludable’ (people cannot be prevented from
using the good) and they are “non-rival” (one person’s use of the good does not
diminish another’ suse). For those two reasons, a private producer has no incentive
to supply the good. Economists refer to goods meeting these two criteriaas “public
goods’ which are often provided only by the government.?* The classic example of
a public good is national defense. While private armies might be capable of
defending the country, there is no incentive to form a private army because nobody
would voluntarily pay for its services (called the “free rider problem.”) That is
because oncean army isin place, it hasno meansto defend its customersfrom attack
without also defending non-customers. Only government, with the power of
taxation, can raise the fundsto finance an army. Similar public goodsinclude basic
knowledge, which once discovered can be enjoyed by al, and the civil and criminal
justice system, much of which (e.g., property rights, dispute settlement, contract
enforcement) makes market transactions possible.®

Because public goods are not transacted through the marketplace, it isdifficult
to determinewhether government overspendsor underspendsontheir provision. The
value of any given public good is different for different people, and the political
process must sort their preferences rather than the marketplace. For example, could
an acceptablelevel of national defense be attained at lower cost? Or isthe nation not
secure enough at current levels of spending? During peacetime, these questions
cannot be definitively answered.

Common Resources. Another type of good that cannot be efficiently
provided by the market is a common resource, such as the environment, ocean
fishing, and certain water supplies. Unlike public goods, theseresourcesarerival —
afish or glassof water consumed by one person cannot be consumed by another. But

2 private producers have found waysto provide some public goods. For instance, broadcast
television and radio is non-rival and non-excludable, but can nevertheless be privately
financed by advertising.

% To clarify the economic meaning of public good, which may differ from popular usage,
it isuseful to point out one government service that does not meet the economic definition
of apublic good, education. Education is an excludable good: a school could conceivably
close its doorsto keep individuals out if it wished. Education isalso arival good: a book
used by one student cannot be used by another.
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theresourcesare not excludabl e becausethey cannot be assigned property rights. For
that reason, they may be overconsumed and can be depleted or even exhausted over
time in the absence of government intervention. Asaresult, government control or
regulation is necessary for an efficient and sustainable use of the resources. Itisno
coincidence that some of the common resources in danger of “depletion” are those
such as ocean fishing and the environment that do not fall within the exclusive
jurisdiction of asingle national government — with no single sovereign entity, over-
consumption is harder to prevent.

Although the government has the potential to achieve economic efficiency
through the regulation of common resources, its intervention may not move the
resource closer to efficient use in practice. For example, many governments have
subsidized the fishing industry, potentially exacerbating the depletion of ocean
fisheries. And because common resources also cannot be valued through the
marketplace, estimating the appropriatelevel of government interventionisdifficult.

Monopoly Power. One reason perfect competition leads to economically
efficient outcomesis because any one producer does not have enough market power
to push prices above marginal cost. Monopoly producers can do so to earn
“economic rents’ (excess profits) by reducing production to an inefficiently low
level. (Theoretically, there could al so be consumerswith monopoly power, inwhich
case the outcome would be economically inefficient because price would be driven
below marginal cost.)

Monopoly can occur for many reasons, including barriers to entry — legal or
natural — and economies of scale. Inthe narrowest definition of the word, amarket
with a single producer, monopolies tend to exist only when marginal cost is
continually declining (producing one more good is aways less expensive than
producing the previousgood). Thisspecial case, known asanatural monopoly, tends
to occur in markets where consumption of a good is non-rival (one person’s
consumption does not come at the expense of another’s); utilities (electricity, water,
cable, telephone) are the most common examples.

Inmost markets, neither anatural monopoly nor perfect competitionexists. The
best description for what does exist istermed monopolistic competition, where each
company makes a product that isdistinct but highly substitutable with itsrival (e.g.,
the Big Mac vs. the Whopper in the fast-food hamburger market), so that each
company has some market power. In monopolistic competition, production is still
inefficiently low, but closer to the efficient point than in a pure monopoly, and
economic rents do not exist. As the number of firms increases and difference
between products decreases, the monopolistic competition outcome approaches the
perfect competition case.

Economic theory suggests that governments can increase economic efficiency
by increasing a monopoly’s production to its efficient point through regulation or
direct ownership. Both approaches have been used historically for utilities. Over the
past three decades, questions have been rai sed whether government intervention can
truly raise economic efficiency even in the case of natural monopolies, given the
political intervention, complexity, lack of profit motive, and distorted incentivesthat
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regulation produces for the monopoly.* Some economists have argued that even
when significant market concentration exists, with the exception of the natural
monopolies, thepotential for competitionispowerful enoughto deter producersfrom
maximizing monopoly rents even when robust competition does not currently exist.
It is noteworthy that government has rarely attempted to intervene to improve
efficiency in monopolistic competition, even though atheoretical case could bemade
todo so. Incaseswhereit has, such asthe airline and trucking industries, economic
regulation has been widely deemed afailure and eliminated.

Monopolies are not aways less efficient than perfect competition, and
sometimes they are fostered by the government for that reason. For example, as
required by the Constitution, the government grants patents and copyrights so that
inventors and authors can enjoy monopoly profits for their work. Without these
government-created monopolies, there would frequently not be sufficient incentive
to undertake those activities.

Externalities. In the market for many goods and services, all the costs and
benefitsinherent in the consumption and production of agood are borne by the buyer
and seller. But some goods also create “externalities’ in their consumption or
production. Positive externaities are benefits enjoyed by third parties, negative
externalities are costs borne by third parties. Again, itisdifficult to determine how
much government intervention is required to correct an externality since the
externality cannot be valued in the marketplace.

Pollution isthe classic case of anegative externality. Society as awhole bears
the cost of environmental degradation, and thereis no incentive for the consumer or
producer to take these societal costs into account. As a result, from a societal
perspectivethe good isoverproduced and overconsumed inthe free market outcome.
If agood generates a negative externality, it does not mean that good should not be
consumed. It means that to maximize social welfare, the consumption of the good
should be reduced to the level that reflectsits social costs.

Vaccinesare an exampleof apositiveexternality. When someoneisvaccinated
against acommunicabl e disease, society asawhole benefits since that person can no
longer contract the disease and spread it to others. From a societal perspective,
vaccineswould be underproduced and underconsumed in the absence of government
intervention.

Some social goalsare often popularly justified on the groundsthat they generate
positive externalities, but the criteria to qualify as an externality are strict and
economistsaredivided if social goalsqualify. For example, homeownershipisoften
viewed as generating positive externalities because home owners are viewed as
having higher incomes, having higher rates of civic participation, and committing
fewer crimes than renters. However, it is not clear that home ownership causes
incomes and civic participation to be higher and crime to be lower or if it just

% For example, see Richard Posner, “The Social Costs of Monopoly and Regulation,”
Journal of Political Economy, vol. 83, no. 4, August 1975, p. 807.
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happensto be correlated with other personal attributes that cause these outcomes.?’
Similar arguments apply to education.

Asymmetric Information. Competitive marketsonly work efficiently when
both buyer and seller are well-informed. In some markets, the buyer may be more
informed than the seller, or vice versa. When this happens, the market outcome is
inefficient. For example, in insurance markets, buyers know more about their
riskinessthan sellers. Asaresult, only buyerswith higher riskswill tend to purchase
more insurance because they are more certain that the benefit of the insurance will
exceed the cost. This pushes up the price of insurance and hampersinsurers’ efforts
to pool risk. When government is able to provide information to the uninformed
party or make participation mandatory, it can move the market back to an efficient
outcome. For auto insurance, many state governments make (some) insurance
mandatory to avoid the problem of asymmetric information. For employment
insurance, the government providesthe insurance directly. Theinsurance marketis
also distorted by mora hazard, which occurs when the insured party acts more
recklessly asaresult of theinsurance. For example, somedriversmay bemorelikely
to speed or run red lights when they become insured, pushing up the price of
automobile insurance.

Asymmetric information is also used as a rationale for financial regulation.
Referred to as the principal-agent problem, the manager of a company or bank may
not have the same incentives (e.g., the costs of risk-taking) as shareholders or
depositors. Information disclosureand accounting lawscanincreasetheinformation
available to monitor the behavior of managers.

Failure to Optimize. Finally, the assumption in economic theory that people
make rational, optimal economic decisions that maximize their well-being may be
invalid in many cases. Without this assumption, an array of possible government
interventions has the potential to improve well-being. An assumption that
individuals do not optimize underlies diverse arguments such as Social Security is
necessary because people do not save enough, primary education should be
mandatory, the Federal Reserve should prevent stock market bubbles, and drug use
should beillegal.

By its nature, the failure to optimizein any given market isthe hardest to prove
or disprove. Much economic analysis is based on the construction of theoretical
models based on optimizing individuals, which are then tested against empirical
evidence. In many cases, the models may be a good approximation of reality not
because everyoneisrational, but because any individuals making different mistakes
nearly cancel each other out. A failure of the evidence to match the model is not
necessarily proof that individual sare not optimizing; themodel could simply bemis-
specified. Thus far, robust, testable models in which individuals do not optimize
have not attained widespread use.

2" See Edward Leamer and Jesse Shapiro, The Benefits of the Home Mortgage Interest
Deduction, NBER, Working Paper no. 9284, October 2002.
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How Do Taxes Affect Economic Efficiency?

Economic theory characterizes taxes as reducing economic efficiency by
“distorting” (changing) the behavior being taxed relative to al other behavior, thus
moving behavior away from the efficient market allocation where marginal benefit
equals marginal cost. (Thisisthe caseif the behavior being taxed does not result in
negative externalities; if it does, then the market all ocation was not efficient to begin
with.) Thus, asalestax on a specific good (e.g., passenger air travel) changes the
choice between the taxed good and non-taxed goods, as well as the relationship
between taxed goods and saving. Likewise, awage tax shifts aworker’s allocation
of histime between |abor and |ei sure away from an efficient balance (the balancethat
maximizes hiswelfare).® (In the rea world, thereis also the possibility that taxes
on labor inefficiently shift behavior from taxable compensation to non-taxable
compensation, such as non-taxable benefits.)®

Is economic efficiency reduced on balance by taxation? That question cannot
be answered in isolation of the other side of the government balance sheet. Taxes
finance government, and, as described above, certain government interventions can
increase economic efficiency.*® Whether any given policy increases or decreases
economic efficiency depends on whether the efficiency cost of the taxes needed to
financeit outweighsthepolicy’ sbenefits. Furthermore, efficiency lossesaredifficult
to estimate, particularly in the presence of other policies that change the market
outcome. Thisiswhy no broad statement can be made about whether the overall size
of government is inefficiently large or small. Economic theory suggests that the
efficiency loss from a tax increases geometrically as the tax increases® This
suggests that as government gets larger (and tax rates get higher), fewer new
government programs would generate efficiency gains large enough to offset the
efficiency losses caused by their financing.*

% Thetax on labor is not inefficient because it reduces labor supply. Theoretically, thetax
could result in less labor supply because the reward to work has diminished or more labor
supply because more work is needed to reach a given incomelevel. It isthe changein the
relationship between consumption and | eisure— and not the direction of the change— that
makes the tax economically inefficient. These effects are called substitution and income
effects, respectively, and are discussed in detail below in the section on The Sze of
Government and Economic Growth.

% See Martin Feldstein, Tax Avoidance and the Deadweight Loss of Income Taxation,
NBER, Working Paper no. 5055, March 1995.

®Thelink between taxes and spending can be temporarily broken through deficit financing.
Deficit-financed tax cutsdo not necessarily raise efficiency, however. A $1 deficit-financed
tax cut in effect is a promise that taxes will be raised or spending will be cut by more than
$1 in the future, because of interest costs. Unlessinefficient spending is cut in the future,
deficit financing results in a net loss in economic efficiency over time.

3 See, for example, N. Gregory Mankiw, Principles of Microeconomics (Fort Worth:
Dryden Press, 1997), p. 167.

32\When the government provides“ private goods,” goods and servicesthat are exclusiveand
rival, it is more economically efficient for them to be purchased directly by the consumer
than financed through taxation. Many government-provided “private goods’ are already

(continued...)
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And yet, the efficiency losses of high taxes should not be overstated. That is
because not all taxes distort behavior. For example, a capitation tax (afixed dollar
tax that everyone must pay) resultsin no efficiency loss no matter how high taxesare
set because thereis no way to avoid the tax, short of death or emigration. Whilethe
example of a capitation tax is extreme, in general economists assert that the
efficiency losses from taxation could be much lower than they are in our current
systemif thetax base were broadened so that an equival ent amount of revenue could
be raised with lower marginal tax rates.® It is exemptions, deductions, tax credits
and the like that narrow the tax base and require marginal tax rates to be as high as
they are; if the tax base were broadened, spending could be judged more on its own
merits than on the costs of financing it. Unlike the case for a smaller government,
where economists are sharply divided, the case for a broader tax base garners wide
consensus among economists. This suggests that considering the optimal size of
government is best done on the spending side. The efficiency case against taxesis
more a case for tax reform than tax reduction.

The case for broadening the tax base raises a further point: putting aside the
spending side of the budget, not all tax cuts increase economic efficiency. From an
economic perspective, unless they correct for an externality, tax expenditures
(credits, exemptions, exclusions, deductions, preferential rates, or deferrals) reduce
efficiency by creating distortions in economic behavior. In many ways, they are
economically equivalent to spending, and the economic distortionsthey createareno
different than the distortions created by an equivalent spending policy.®* A $1,000
child tax credit is no different than the government paying every digible parent
$1,000 per child. Likewise, the mortgage interest deduction is no different than
paying every mortgage-holder in the 15% tax bracket $0.15 for every dollar in
mortgage interest they pay. It is only reductions in margina rates that increase
economic efficiency. Just like spending, tax expenditures increase economic
efficiency only if they distort behavior that suffersfromamarket failure, and they are
not generally better or worse than an equivaent spending provision at doing so. If
tax expenditures are not aimed at correcting a market failure, they can divert
economic resources from efficient production to the inefficient pursuit of the
economic rents that the tax code creates, such as “tax shelters” Other tax
expenditures cause marginal ratesto be higher without any meaningful changeinthe
targeted behavior. For example, there is little evidence that more children are born
as aresult of the child tax credit. If that is the case, the credit mainly serves as a
transfer to parents from taxpayers — in economic terms, a*“windfall” since parents
need not change anything to receive the credit.

32 (...continued)
financed through user fees and are omitted from the budget (see the section above on
offsetting receipts and collections).

% Most economists view the Tax Reform Act of 1986 (P.L.99-514) as agood example of a
tax reform that followed this principle.

% Tax expenditures raise distributional issues compared to spending. Unless they are
refundable, income tax expenditures are only available to entities with taxable income,
which excludes many lower income households. Furthermore, when tax expenditurestake
the form of tax deductions, they are regressive because the val ue of the deduction increases
as taxable income increases as the taxpayer’ s marginal tax bracket increases.
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The case for tax simplification is also based on the goals of minimizing
administrative cost, complexity, and evasion, all of which create economic costsin
addition to the efficiency costs discussed above.

Balancing Economic Efficiency With Other Goals

It is crucia to remember that any policy aso has non-economic costs and
benefits. Economic efficiency is certainly not the only criterion for public policy.
Equity, fairness, and justice arejust afew socia goalsthat economists cannot judge
guantitatively. There are many social goals that policymakers may wish to pursue,
and they often consider whether social benefits outweigh the efficiency loss. For
example, acivil and criminal justice system isnot maintained primarily for its effect
on economic efficiency, but for itseffect on justice, equity, morality and fairness. A
progressive income tax system is less economically efficient than a capitation tax.
But economics says nothing about whether the capitation tax is more socially
desirable because it cannot weigh the efficiency loss against the equity motive for
having a progressive tax system. No economist can offer a precise estimate of
whether the economic costs and benefits of any proposal will outweigh its social
costs and benefits.®

Economists can, however, evaluate how to achieve a social goa in the least
economically costly way. For example, economists generally applauded the
government’s decision to deal with the social costs of worker displacement from
NAFTA by coupling free trade with worker retraining programs and extended
unemployment benefits for displaced workers. This was viewed by economists as
more economically efficient than preventing working displacement through trade
barriers, so that the gains from trade to consumers can still be enjoyed.*® And in
some cases public sector provision of a socia goa may be more economically
efficient than private sector provision. For example, it may not be possible for the
private sector to efficiently provide unemployment insurance because of the
asymmetric information problems described above. Government provision of
unemployment insurance can potentially achieve efficiency while simultaneously
contributing to the social goal of preventing economic hardship. Likewise, some
economists have argued that income redistribution can only be carried out at an
efficient level by the state because it isapublic good proneto under-provisionin the
marketpl ace because of the free-rider problem.*’

% Many economists have devised sophisticated theories for achieving optimum income
redistribution based on various social principles. For example, economists have devel oped
different redistribution schemes based on an equal sacrifice principle that tax rates should
be set by income status such that taxes reduce the welfare of all taxpayers equally (so that
high income individuals pay higher taxes). But thereis no way to use economic theory to
judge which theory of redistributionismost fair. For anintroduction and bibliography, see
Richard Musgrave, “Fairness in Taxation,” in Joseph Cordes et al., The Encyclopedia of
Taxation and Tax Palicy (Washington: Urban Institute Press, 1999), p. 117.

% See CRS Report RL32059, Trade, Trade Barriers, and Trade Deficits: Implications for
U.S Economic Welfare, by Craig Elwell.

3" See Harold Hochman and James Rodgers, “Pareto Optimal Redistribution,” American
(continued...)
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Effect of the Government on Economic Growth

Arguments surrounding the size of government are often posed intermsof their
effects on economic growth. Like the section on efficiency, this section argues that
the effect of government spending on economic growth can only bejudged on acase-
by-case basis. But more generaly, the problem with using growth as a policy
evaluation criterionisthat it tells nothing about overall welfare, whichincludesnon-
economic benefits, such as quality of life. Unlike efficiency, economists view
growth, at best, as one effect of a policy to be considered and not a goal in and of
itself. Even in cases where the effect on growth is positive, society may be made
worse off. As athought experiment, consider the effects of a mandatory 80-hour
work week: it would be expected to increase economic growth, but society would be
worse off. Nonetheless, since economic efficiency cannot be easily measured,
growth will often be the best alternative criterion available.

The question of the relationship between the size of government and economic
growth isof along-term nature. Thus, adistinction should be made between short-
term fluctuationsin growth due to the business cycle and the long-term, sustainable
growth rate of the economy. For that reason, arguments for or against larger
government cannot be based on the ability of an increase in the budget deficit to
increase aggregate spending in the economy in the short run. Notice that these short
run effects are consistent with certain definitions of both larger government (higher
spendi ?Sg with constant taxes) and smaller government (constant spending with lower
taxes).

Long-term growth (increases in output) is caused by increases in the labor
supply (hours worked or number of workers), the physical capital stock, or
productivity. When the size of the labor force grows with the population, there
would be no effect on per capita growth, however. Growth in the physical capital
stock is made possible by national savings (or borrowing from abroad). For thesize
of the government to affect long-term growth, it must affect one of these three
sourcesof growth. All four typesof government behavior (spending, transfers, taxes,
and regulation) have the potential to influence these three sources of growth.

37 (...continued)
Economic Review, vol. 59, no. 4, September 1969, p. 542.

% An argument has been made by Fatas and Mihov that larger governments can more
effectively stabilize the business cycle in the short run because they have relatively larger
automatic stabilizers. Automatic stabilizers are changes in spending and revenue that
increase the deficit, thereby boosting aggregate demand, and occur without policy changes.
The authors offer international evidence supporting this theory. This argument can be
criticized, however, on the grounds that there is nothing preventing smaller governments
from using discretionary monetary and fiscal policy effectively, mitigating the reliance on
automatic stabilizers. See Antonio Fatasand Ilian Mihov, “ Government Sizeand Automatic
Stabilizers: International and Intranational Evidence,” Journal of I nter national Economics,
October 2001.
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Effect of Spending

A portion of gross domestic product (GDP) is produced by the government.
Likeaprivatefirm, thegovernment purchasesinputsfrom the private sector (e.g., the
military purchases tanks and airplanes from private defense contractors) and labor
(e.g., soldiers) to produce afinal good or service (e.g., national defense). But unlike
afirm, most government goods and services, like defense, are not bought and sold
in the private market, and so there is no way to value them. Nevertheless, these
goods and services are part of the nation’s GDP. To prepare the GDP accounts, the
Bureau of Economic Analysis values government production, unlike private
production, by measuring the inputs rather than the output. This makesit difficult
to measure the effect of government production on the economy empirically, even if
there are good empirical reasons for believing it to have an effect.

There is little reason to believe government spending has any direct effect on
increases in the labor force since the number of jobs available expands to
accommodate increases in the labor force over the long run, but it may affect
productivity gainsover time. Some have argued that the lack of competition and the
profit incentive in the government sector leads to less innovation and lower
productivity gains over time.*® Empirical tests of the proposition may yield little
meaningful information, however, because of the way that government GDP is
recorded. In the private sector, productivity growth occurs when the same inputs
yield higher output than previoudly. Since government GDP is based on inputs and
output isnot measurable (becauseit is not bought and sold in the marketplace), there
is no direct way to tell how much government productivity is growing over time.*

There is also the question of magnitude: are differences between public and
private sector productivity growth rates significant enough to have a meaningful
effect on economic growth? As a thought experiment, consider that government
output (including state and local) accounted for about 20% of GDP in 2007. If
private sector productivity growth is 2% and government productivity growthisonly
half ashigh, total output growth will only be 0.2 percentage pointslower ayear than
if productivity were the same in both sectors. In that case, reducing government
production by half would only raise productivity growth by 0.1 percentage points.
(Likewise, if the government’ s productivity growth rate were higher than the private
sector’s, the effect would be too small to make much of an impact on the overall
productivity rate.) If anything, this calculation may overstate the productivity
differential since some government output is produced by private sector contractors
who presumably have productivity growth rates similar to the rest of the private
sector.

% See, for example, William Niskanen, Bureaucracy and Representative Government
(Chicago: Aldine-Atherton Publishers, 1971).

“0 For adescription of aBLS program that attempted to measure government productivity,
see Bureau of Labor Statistics, “ The Federal Productivity Measurement Program,” Monthly
Labor Review, May 1997, p. 19. By itsestimate, government productivity rose 1.1% ayear
from 1967-1994, compared to 1.5% non-farm business productivity growth over that period.
(The article lists several reasons why the government and business productivity are non-
comparable.) This program has been discontinued.
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Finally, some government goods and services, while possibly subject to lower
productivity growth intheir production, alter private sector productivity growth. For
example, government enforcement of property rights may lead to more
entrepreneurial activity, and a new road may reduce the costs of shipping private
sector goods to market. In these cases, reducing government spending could lower
total productivity growth (by lowering private sector productivity growth) even if
government productivity growth is lower than private sector productivity growth.
Increasing other government goods and services could lower private sector
productivity growth.

Thus far, this section has focused on government spending on consumption
goods and services. But government spending can also finance public capital goods,
which increases the nationa capital stock in the same way as private investment.
Government spending on capital investment (roads, structures, ports, and so on)
increases output by increasing the nation’ s capital stock in the same way that private
capital investment does. Annual non-defense capital investment spending has stayed
relatively constant in recent decades at less than 0.5% of GDP at the federal level,
and 2% of GDP at the state level (which is partly financed by federal grants).
Defense capital investment hasfollowed adownward trend in peacetime, from about
3% of GDP in the 1960s to less than 1% of GDP since the 1990s; in war times,
defense investment has increased above the trend (although not in recent years). It
isless clear that defense investment has the same positive effect on measured GDP
growth as non-defense investment since it is an investment in the intangible good
“security.”

Figure 5. Public Investment Spending, 1950-2007
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Source: BEA, Nationa Income and Product Accounts, Table 3.9.5.
Note: Datameasured on a calendar year basis.

Some would argue that government spending on research and development
(R&D) should be included in measures of investment spending, and some would
include spending on education and training because it increasesthe nation’ s* human
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capital stock.” Federal spending on R& D has trended down from about 2% of GDP
in the 1960s to about 1% of GDP today; throughout this period, it has been split
about half and half between defense and non-defense.**

Whether an additional dollar of spending on government output directly
increases or decreases growth depends on what it is replacing. To the extent that
government capital spending replaces private consumption, there will be a net
increase in economic growth through a higher capital stock. Conversely, to the
extent that government consumption spending replaces privateinvestment, therewill
be a net decrease in growth. Whether government or private investment yields a
higher rate of return for the economy will vary on a case-by-case basis, and both are
prone to diminishing returns to investment as investment spending is increased.*

Effect of Transfers

Government spending ontransferstoindividual shasno direct effect onthelevel
of aggregate privateoutput, asidefrom administrative costs. Transfersonly affect the
distribution of private output: the transfer recipient uses transfer funds to buy goods
and servicesfrom the private sector or to save rather than the taxpayer who finances
the transfers.

The effect on economic growth of transfers comes from the distortion in
incentives caused by the transfer, both on the taxpayer, as discussed in the next
section, and the recipient. Since the largest recipients of transfers are retirees, it is
useful to consider the effects on that group. Social Security payments and other
government pensions and age-based transfers may reduce the private saving rate by
replacing private saving for retirement (although the offset would not be onefor one
since someretireesdo not save adequately for their retirement). Sincethesetransfers
arefinanced on apay-as-you-go basis, thereisarguably no public saving to offset the
reduction in private saving, reducing national saving. The programs may also lead
to earlier retirement than would otherwise occur, reducing output through a smaller
labor force. Transfers for the elderly also incorporate a number of insurance-like
functions, protecting the elderly against the risk of disability, outliving their assets,
spousal death, and so on. These insurance-like functions may reduce the need for
private precautionary saving.*

- Government also influences private R& D spending through the R& D tax credit. For an
introductionto the evidence on R& D and economic growth, see Zvi Griliches, “ Productivity
Puzzlesand R& D: Another Nonexplanation, Journal of Economic Perspectives, vol. 2,no.4,
autumn 1988, p. 9.

“2 Some research suggests that public investment can have a higher rate of return than
private investment or increase therate of return on privateinvestment. See AliciaMunnell,
ed., Is There A Shortfall in Public Capital Investment, Federal Reserve Bank of Boston,
Conference Series 34, June 1990; and David Aschauer, “ IsPublic Expenditure Productive?’
Journal of Monetary Economics, vol. 23, no. 2, p. 177.

3 For more information, see CRS Report RL31498, Social Security Reform: Economic
Issues, by Jane Gravelle and Marc Labonte.
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Are transfers to the elderly ill-advised because they may reduce economic
growth? This exampleillustrates why efficiency is a better economic criterion for
judging programs than growth. The relevant question is not whether the insurance-
like qualities of these transfers reduce private saving, but whether the government
can provide insurance more efficiently than the private sector because of market
faillures in the private insurance market (adverse selection, moral hazard, and
incomplete markets.) In other words, market failures in the insurance market can
lead to individual s saving too much, and government intervention has the potential
to make them better off by reducing the risky contingencies for which they were
previously saving. Asaresult of government intervention, saving (and economic
growth) would fall, but economic efficiency would increase.

Another major category of transfers are means-tested transfers. Means-tested
transferscan potentially reduce growth by creating anincentivefor recipientsto keep
income or wealth or hours worked below the point where benefits are phased out.
The incentive can be reduced by phasing transfers out more slowly as income
increases. The effect of means-tested transfers on economic growth are often
weighed against their effect on non-economic goals.

Economists are least fond of transfers that are economically inefficient and do
not serve any broad social goal. For example, subsidies to specific industries or
sectors of the economy may reduce economic efficiency by causing over-production
in thoseindustries. Theintroduction of an industrial subsidy would be expected to
lead to a one-time reduction in GDP as the economy’ s resources are reallocated to a
lessefficient outcome. (Itislessclear if industrial subsidieswould reduce economic
growth on an ongoing basis; they may do so if they reduce competition and the
incentive to innovate.) At the same time, the benefits of the subsidy are highly
concentrated and generally do not accrue to broad groups on a non-discriminatory
basis. For example, workers in the industry being subsidized are made better off
even though their income level and employment situation may be superior to those
in other industries that are not being subsidized.

Effect of Taxes

By changing economic behavior, taxes have the potential to affect overall
growth. Taxes on saving could change saving rates, and thereby investment rates,
and taxes on labor could change the labor supply. Theoreticaly, income tax
reduction, which affects saving and labor, could increase or decrease economic
growth. That isbecause atax cut affectsbehavior intwoways. First, it increasesthe
rewards to work relative to leisure, giving the worker an incentive to work more.
Thisis known as the substitution effect. Second, it increases the worker’ s after-tax
income, such that he must work lessto maintain hispreviousstandard of living. This
gives him an incentive to work less, and is known as the income effect.
Theoretically, there is no way to know whether the substitution or income effect
dominates for any given tax; it isan empirical question.
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Empirically, the evidenceisdivided onthesizeand even direction of the effects
on saving and labor.* Some studies have concluded that labor supply increasesin
response to tax cuts, othersthat it falls. Inany case, most studies find the response
to be small. Thereisevidence that the response of certain demographic groups are
greater than others. Working-aged maleadultsare overwhel mingly aready employed
full-time, so there is relatively little scope for them to enter the labor market or
greatly increase their hours in response to a tax cut. On the other hand, female
employment rates are lower, and there is some evidence that there is alarger labor
supply response to tax cuts among females in high-income households. The labor
supply of workers near the beginning or end of their career may also be more
sensitiveto changesintax rates.” Casual observationisconsistent with small overall
effectson labor. The average work week declined through the 1960s and 1970s, and
has stayed relatively constant since, despite the declinein marginal incometax rates
since the 1980s. The male labor force participation rate has followed a downward
trend since the 1960s, and the femal e participation rate rose dramatically for much
of the post-war period, but has been relatively constant since the 1990s.

The effect of achangein taxes on labor supply islikely to be a one-time effect:
once individuals have adjusted their labor supply in response to atax cut, they will
not continue to increase or decrease it in the future. Thus, a change in taxes is
expected to have only aone-time effect on growth through the labor supply channel.

Theempirical evidence on savingisparticularly inconclusive. At aglance, one
can see that the household saving rate has been in steady decline over the past few
decades — and was close to zero in the past several years — despite a downward
trend in marginal income tax rates and taxes on capital, and adramatic expansionin
tax-favored savings accounts since the 1980s. Since saving is hot motivated solely
by tax rates, one cannot make a simple comparison between thetwo. To explainthe
empirical behavior of saving requires matching the data to some theoretical notion
of why people save. Because the motives for saving are complex, the theoretical
models used by economists become very complex even under simple assumptions.

Not only the level of taxes, but also the structure of the tax code affects
economic growth. To the extent that “loopholes’ in the tax code do divert resources
from the pursuit of efficient market activity, this too lowers economic growth,
although it is difficult to estimate the size of this effect, and whether thereis aone-
time reduction in growth when the loophole is introduced or an on-going reduction
in growth.

Evaluating the effects of tax cuts on growth cannot be done in isolation. To
finance a tax cut, spending must be reduced, other taxes must be raised, or the
government must borrow. If atax cut isfinanced through lower spending or raising
other taxes, then the effect of those changes on long-run growth (which could be
negative or positive, depending on the policy change) would need to be weighed

“4 For more extensive treatment of the issues discussed in this section, see CRS Report
RL 31949, Issues in Dynamic Revenue Estimating, by Jane Gravelle.

> See Orley Ashenfelter and Richard Layard, Handbook of Labor Economics (Amsterdam:
Elsevier Science Publishers, 1986), Ch. 1-2.
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against the tax cut. If thetax cut is financed through borrowing, its effect on long-
run growth islikely to be negative since borrowing reduces national saving, unless
the positive effects on private saving and labor supply are large enough to offset the
reduction in national saving.

Effect of Regulation

Estimating the effect of regulation on growth isdifficult, and can only be done
on a case-by-case basis. Some regulations reduce output by diverting resources to
non-economic compliance costs. Undoubtedly, other regulations enhance growth,
such as the positive effects of the rule of law on commerce. Some regulations may
reduce a firm’'s output directly, such as environmental regulations, but be offset
(partially or wholly) by indirect positive economic effects, such as through an
improvement in public health.

It isimportant to distinguish between aregulation’s one-time effect on output
(and growth), and its permanent effect on growth. In the long-run most one-time
effects are swamped by the compounding of growth. For example, if environmental
regulations raise afirm’s costs, reducing the demand for their product, their output
will fall. But after the one-time fall, the regulation may have little effect on how
much their output grows in the future.

Concluding Remarks

The government affects economic activity through four primary channels:
government production of goods and services, transfer payments, taxation, and
regulation. Measuring the size of government is not a straightforward exercise.
Relying on annual federal outlays excludes several typesof government intervention
including state and local outlays, tax expenditures, government corporations, and
offsetting receipts and collections; as aresult, the government appears to be smaller
thanitisinreality. Annual measures of government also neglect future unfunded
liabilities implicit in current policy. Measuring the economic impact of regulation
isdifficult, and is not done comprehensively or consistently.

Government interventionincreases economic efficiency whenit rectifiesmarket
failures and reduces efficiency when it distorts perfectly competitive markets.
Political choices may lead to second-best outcomes, however, and some therefore
argue that accepting market failures can be preferable to government interventionin
some cases. To be efficiency-enhancing, government spending must have greater
benefits than the efficiency-reducing taxes that finance it.

Likewise, tax cuts will only increase overal efficiency if they are financed by
reductionsin relatively less efficient spending or increasesin relatively less efficient
taxes. In general, margina tax reductions tend to be efficiency increasing, while
many tax expenditures are efficiency decreasing. Deficit-financed tax cuts do not
increase efficiency if they are financed by larger tax increasesin the future.
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Not all government spending is created equally. Economists universally agree
that some government spending, on a well-functioning legal system, for example,
increases economic efficiency and growth. Agreement is nearly as universal that
some government spending, on subsidies to industries, for example, reduces
economic efficiency or growth. In between, are policies that are a jumble of
efficiency-enhancing and efficiency-reducing provisions. For thisreason, no general
conclusions can be drawn about the overall size of the government’s effect on the
economy. It is conceivable that a very large government could devote all of its
spending on efficiency-enhancing policiesand avery small government could devote
all of its spending on efficiency-reducing policies, or vice versa

Many policies that reduce economic efficiency or growth may meet social or
non-economic goals (equity, fairness, and so on) that make them worthwhile.
Currently, government transfers to individuals are nearly twice as large as
government spending on goods and services, and the primary goal of most transfers
is probably not economic efficiency.

Government intervention increases (decreases) long-term growth with policies
that foster (hinder) greater work effort, capital accumulation, and technological
innovation. Economic growth is not a clear normative goal such as economic
efficiency, however. Somegrowth-enhancing policy measuresmay reduce economic
welfare. Inany case, economic growth has historically been stable over long periods
of time, suggesting that market forces tend to be stronger than the growth effects of
policy changes.

In sum, there is not an economic rationale for either “big” or “small”
government, per se. It isnot so much the size of government as what government
does with its spending, transfer, tax, and regulatory policies that affects economic
efficiency and growth



